
Assembly Instruction
Monteringsanvisning  |  Montageanleitungen

@venturehomese
@venture.design

Article Number: 6147-000
Description: Luzon Sunlounge Acacia - Teaklook /

Do not tighten screws until all 
screws have been assembled!



@venturehomese
@venture.design

Do not tighten screws until all 
screws have been assembled!

www.venturehome.se www.venturedesign.se

M6 x 60

M6 x 13

M6 x 35

M4 x 60

No. Qty.

1 2

No. Qty.

A 4

B 4

C 8

D 2

No

No

No

No

No

No

No

2 x 12x83

2 2

3 2

4 2

5 1

E

F

G

H

I

J

M8 x 60

8x13x5
2

2

2

2

8x18x2

8x35x3

10x20x2

1

1



@venturehomese
@venture.design

Do not tighten screws until all 
screws have been assembled!

Step 1:

Step 2:

3
1

B

A

3
2

B
A

www.venturehome.se www.venturedesign.se



@venturehomese
@venture.design

Do not tighten screws until all 
screws have been assembled!

Step 3:

Step 4:

4

D
H

G F

E

5

C

www.venturehome.se www.venturedesign.se


	Slide 1
	Slide 2
	Slide 3

